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Branch COMPUTER APPLICATIONS
MATHEMATICAL OPTIMIZATION

Trme Three Hours ‘i 7 Max1mum 50 Marks

Answer ALL quéstions | ‘w e

.':._"»LE‘:The gTaphlcal method of. LPP uses. R O \ §

; 1‘,',.'_?;(111) Llnear equatlons e (1v) All of the above ..

To formulate a problem for solutlon by the s1mp1ex rnethod we must add
- artlﬁc1al vatiable to " ' . _ .

. (111) both (1) and (11) (1v) None of the above

SR ».(destmatlon) is feas1b1e 1f number of posrtrve allocatlons are
O G 12
: . ,ﬁ.(lll) 6 (1v) 8

S The ob]ectlve of network analysrs is. to
(i) Minimize total project duratlon
SR 1) ‘Minimize total project cost”’ L :
L (H)- Mmlmlze productlon delays mterruptlon and conﬂlcts

o ":.'.v'.“(IV) All ofthe above UL B T

What happens when max1m1n and rmmmax values of the game are same‘?
© (@) No solutlon exists - - (ii). Solution is mixed. - L ey

SECTION B ( 15 Ma !
. Answer ALL Questrons

: SOlve by Graphlcal method
: Max1m1ze z=5%+ 4x, .
SUbJCCt tO 6x1 -|-4x2 524
" . xl +2x2 56 :.’ o o | | |

\",:_". OR
SR 'Maxrmrze z =3x; +4x2

f' "'Subject to the constralnts

ALL questlons carry EQUAL marks (5 X 1 = 5) 5

TOTAL PAGES DR

(i) Objective function equatron (11) Constramt eQuatlons

"’(,1) ‘only equality ¢ constramts ; (n) only greater than constramts "’V’j;

‘The. solutlon to a transportatlon problem 4 rows (supphes) and 3 - columns : ' : Lf s

: '14“;’,(111) Saddle pomt ex1st - (1v) None of the above S R S

ALL Questlons Carry EQUAL Marks (5 x3= 15) o

xl,x2 20__ e v RS

, Use graphroal method to solve the followmg LPP v- ) S
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_,{.-{machme A and no tlme 0. machme B. There are 16 hours per day avallable on j'
* machine A and 30 hours on machine B. proﬁt gained by the: manufacturer
froma chair and a table is Rs2 and Rs: 10° respectlvely What should be the R
“'dally productlon of each of the two products‘? j}:.%i -:' e

prdduce 1000 belts er ély o




w '.-'requlres a féncy buckle énd only 4 it i r day. .
B enly 700" buckles are avallable per “day. I,.How should the cornpany-«_;
) "‘manufacture }the two types of. belt'* in order"t .have a \max1mum overall -

13 : A Company has factorles at Fl Fz and F3 whlch upply to warehousesi at Wl,'
/ ;‘,_‘Weekly factery capacmes a: 2003. 00 it

department has five employees Wlth ﬁve jobs f'to" be perferme , o time.
,"», each men - wﬂl . take 10, perform ‘each Job’ i< otven i

- f total rhan—hour 9




14 aDeterrmnc themax1mal ﬂowm thenetworkglven below fo T

b A prOJect is represented by the netWork shown below and has the followmg i SR
Codata &

SoCente

Task [ A B C[D[E|F

: Opt-lmlstlc time | S5 | 182616 15| 6 |
' 'Pes's1mistic time | 10 22 140 {20 [ 257112 |
9.

: _o.e oflalm|

-‘.;Js ol lis| -

l\/lost hkely tlme 18 "gzo, '_33 1_‘118 | 20 90

en ,.,'Determme (1) the cr1t1cal path (11) The duratlon of the prOJect that w1ll have. L

B -?"'95% chance of bemg completed

- -15:‘:.2'1:"

iA reta1ler purchases chemes every mornmg at Rs 50 a case and Sells them 7_",
S for Rs 80 a case. Any case remaining unsold at the end of the day can’ be
disposed of next day at a salvage value of Rs. 20 per case Past sales have S T

P ranged from 15 tot18 cases per day.: -

) o ;'*{,The followmg is the record of sales for the past 120 days ;,fh T ,: B S

Cases Sold 15 16 17 18 o

,': "rFmd how many cases the reta11er should purchase per day to maxnmze hls'.-vfl-f;*“f- SRR
o ._proﬁt o SRR »- SRR

Number ofdays 1224 48 36 R

b Solve the game whose payoff matrlx is gwen below - : .

o PlayerB y
PlayerA B1 B2 B3 B3' T
oA o4 08




